HEES AT L
5
. 31 FE A




T—4(Data)
S

o IRTDT—REYMEIT—21THITIEEL, B
5, T AN BRI ER. EF.ETA.GE

HdH B,
o FHHIMHICED ERDT —RET—2THIZE
HTES,

o T—ANMIITUTATA4ZEITHIIENST EE
HELTWA, EHRIZITFNFNLOIVTo
TAIISEISFLERLH D, T—FTTT7DE
TILEEZDOND,




RIEDIER: EMNEH vs HHEH
o =MIZ £ (quantitative or numeric):
Bl Bx, mE. D

o HHIZ 1 (qualitative or categorical) : ;BE A A]
HE

Hl: NEOBDORE., #BEEZS. IP7RLX,
#F DH7{0,1,..,9}.
Iris{E M V5 X{Setosa,Versicolor,Virginica}

B iZZ % (target variable) : Z2OATIVDE
IRMZLN,




FA)VAT—3ycDHT)IL

12

=

125
145
101

(%3]
=)

Sepal.Length

4.3
4.5
4.6
6.7
6.7
6.3
6.3
5.1
5.0
7.2
7.0
6.9

3.4
3.4
3.4
3.3
3.3
3.3
3.3
3.3
3.3
3.2
3.2
3.2

Sepal.Width ¥ Petal.Length

1.6
1.9
1.4
5.7
5.7
6.0
4.7
1.7
1.4
6.0
4.7
5.7

Petal . Width

0.2
0.2
0.3
2.1
2.%
2.5
1.6
0.%
0.2
1.8
1.4
2.3

Species
setosa
setosa
setosa
virginica
virginica
virginica
versicolor
setosa
setosa
virginica
versicolor

virginica



T2 DHRBHIGHRR
e

e T—73%75l(Data Matrix)
T:La—KF. YT IToT4T4. AT,
FHEAN D 2—.
5-%27 )L

x; = (5.9,3.0,4.2,1.5, versicolor)
5B, TO/NTo L E. J—ILE




T—41751(DATA MATRIX)

n X d 7 —=1{71% (data matrix), n {T(rows) and d %!/(columns)
T (rows) = 7 —F T v T 77« (entities in the dataset)

Z1| (columns) = 1. 70/ —F -« (attibutes or properties)

[T T2 - T
La1 L9 e Lad
D = _
\mﬂl £Ln2 e :Eﬂd)

x; - i-throw d-tuple : z; = (z;1, T, -+, Tid)
X : j-th column n-tuple : X; = (x5, Taj,- - -, Tpj)

row=={instance, example, record, transaction, object, point, feature-vector, tuple}
column=={attribute, property, feature, dimension, varable, field}

n 7 —ROH A2 (size of the data)

d - 7 —=@ ;% m(dimensionality of the data)



1RTDRE

A0 A 3X5T. 2, T.

X3

(5.9,3.0,4.2)

X1 =

(@)
T

5.5

(5.9,3.0)

2 3 4 5

1

0

(®)

RELIR

IE5T#

—
e

AT —

7.0 75 8.0

6.5

6.0
Xi: sepal length

5.0

4.5

X

=20

1.5

1.0

0.5

0.0

—0.5
-1.0



BEHEY vs EHEEM
« ]

st AUE T (Numeric attribute)
B D481 - domain(Age) = N, domain(petal length)= R

FE5R AR, ER. N 1T

H73) B = 1% (Categorical attribute)
B DS : domain(li& %) ={A,B,AB,0}, domain(t4Al)={M,F}



TA)AT—3yrDHEHER
.

> summary(iris)

Sepal.Length Sepal.Width  Petal.Length Petal.Width

Min. :4.300 Min. :2.000 Min. :1.000 Min. :0.100

1st Qu.:5.100 1st Qu.:2.800 1st Qu.:1.600 1st Qu.:0.300

Median :5.800 Median :3.000 Median :4.350 Median :1.300

Mean :5.843 Mean :3.057 Mean :3.758 Mean :1.199

3rd Qu.:6.400 3rd Qu.:3.300 3rd Qu.:5.100 3rd Qu.:1.800

Max. :7.900 Max. :4.400 Max. :6.900 Max. :2.500
Species

setosa :50

versicolor:50

virginica :50



H>,71)>4 Univariate

f,F,p,0,r: BREOKES 5 RESHEY T BERE LS

fx)
L . L te€
A A A iy 0.5 1 )
L 3 “ .’ =
f,.F,u,o,r T ILORAR
04 +
Frequency |
e)
A 00 o 0.3 +
00 e) o) le)
00 o 00 00 O
000 00000 00 00 O
0000 00000 00 000 O 0.2 1
O 00000 00000 000000 O O o
O O 00000 000000000000 000 O e}
O 0000000 0000000000000000 O e}
00000000000000000000000000000000 00 O - Xo.l -+
T T T T T T T T » 1
4 4.5 5.0 55 6.0 6.5 7.0 715 8.0 0 . :
— i i f f i ; X
% 2 3 4 ) 6 7 8 9
n=>5.843
F(x)
1.0 + 8—9—-.—.—0—.—0—.—»
09 +
0.8 + —
0.7 +
0.6 +
05 +
04 + @O==0O
03 +
02 +
0.1 +
0 r&e=O i i i i f i { f T i f X




H>,71)24 Univariate

f, Fyp,0,r: BEAOREES 1, RMAHER, T19 BERE LD

s

f.F 6,7 Y FILORE

Frequency
o
A 00 o
00 o o o
00 0 00 00 O
000 00000 00 00 O
0000 00000 00 000 O
O 00000 00000 000000 O O o
O O 00000 000000000000 000 O o
O 0000000 0000000000000000 O o)
00000000000000000000000000000000 00 ©
I I I I I I

T I
4 4.5 S0 55 6.0 6.5 7.0 7:5 8.0

fp=5.843

J(x)
0.8 +
0.7 1
0.6 +

0.3
0.2 1
0.1 1

0 I 1 1 1 I I I
4 4.5 5.0 3.3 6.0 6.5 7.0 755 8.0

X
(a) Empirical CDF

F(q)

0.50 0.75 1.00

q
(b) Empirical inverse CDF

0 0.25



FAIVART—32tyrDRIEDAIRIE
ARTORMZ2RTOTAVE
(Draftsman's display)

20 30 40

D5 15 25

20 30 40
[

Sepal Length

op

&

05 15 25

-"a.:ﬁ
¥

Sepal Width

e

[

I
'&?‘# Petal Length
o o

;#’ﬁ‘ﬁ ;7
* mﬁl'

Petal Wictth

IIIIII

45 60 75

1 3 5 7




20 30 40

05 15 25

ks

FAVAT 2ty DREDRIRIE
AR T DRIEEET Y HHEE(HHRRRE)

45 B0 75

o: f}
.#_!_I_I_I_
1 3 5 7

20 30 40 05 15 25
1 1 1 1 1 L1 1 1 1
Sepal Length 012 0.87 0.82
.'
.’: "
i
£ .ﬁ;.: Sepal With 043 037
L X ]
.E d
B [ T, .t
'#' X Petal Length
[
§ b al Lengt 0.96
s o byl
. s 23
gt
] .r!‘.b L Petal Width
* mv

45 60 75

1 3 5 7

> (@ - 2w - )

178

((i{ﬂ: mJ‘*)(Z{y 7) ))



FAVART 3ty rOREDAHRIE

Boxplot

Sepal.Length

— e
T} L) :{:-OG
- =]
Oﬁ b=}
— ok
) n %? g 0@%
@ 2ut [TgBGr
_ R B
N
Lo -3 1
= d'q? il
] —& oo
b
=r
| | |
setosa wersicolar  wirginica
Petal.Length
- -
(] p—
w -
'q- —
[ e
[t e

setosa wErsicolar  wirginica

25 30 35 40

20

19 20 235

1.0

0.3

Sepal. Width

=
.

o

T

og%
Tlo

L)
o Qoo
;gg
i 1
bt £

frooes]

[sTe 3] -C-(#g
e L+ e1ls]
LR+ |

o< o] !
:DO —Lla
1

| | |
setosa wErsicolor  wirginica

Petal. Width

| | |
setosa wErsicolor  wirginica




ERTHOZEE (Probabilistic Data

view)

o EMEHUZEHMMENIKERT D
- EXD®IIG EVERL

o TERMGHMFEE NAXEZFETILIDT—
BERAIT DI, EMNERTHERETHICE
BRARHSD




Ho )N
o ERIEMEDIKRLY. — DD ZE F(univariate)
o NILX—AMEH

z; € dom(X) = {a1,a2,..., am}

m=2

b R—H# X(v) = {; “-; v=1a4
1 'U:ﬂ,z

HEEEEM# (Probability mass function PMF): P(X = ) = f(z) = { _
p if =0

H>,71)>4 Univariate

f,F,p,0,r: BREOKES 5 RESHEY T BERE LS

s

f!F:ﬁ‘:&:F HUTILORAE



Ho )N
o ERIEMEDIKRLY. — DD ZE F(univariate)
o NILX—AMEH

P(X =z) = f(z) =p*(1 —p)" " wherep, = pandp, =1 —p

& = var(X) = p(1 — §)
Iris dataset” dom/(sepal_length) = {Long, Short}
Long = [7,+00), Short = (—o0,T)
Fi: p=p = 13/150 = 0.087
g o =var(X)=p(1 —p) =0.087(1 — 0.087) = 0.079
F3REN: E[N| =np = 150 x 0.087 = 13
FIRFNDE  var(N) = np(1 — p) = 150 x 0.079 = 11.9



o)
o EHIRMEDI/LY. — DD ZE F(univariate)
o HHMNILX—ALTH

B R —
eg=(0 --- 0 1(m#i) 0 -.- 0)°
X(v)=e;ifv=a

HEEEE 2R# (Probability mass function PMF): P(X = e;) = fle;) = p. Ty =1

o H3aITSI

2

o 012 ... O pill—p1)  —pip 28 —P1Pm
2 .
02 03 ... O —pipz p(l=p2) - —papm
=] . , = :
¥
Otm  O2m .- a,. —P1Pm —P2Pm e Pm(l — Pm)

y=P— p-p’ where P= diag(p), and p=ji = (p1, Prv---’ Pu)’

&



YTV
o EHIRMEDI/LY. — DD ZE F(univariate)
o HHMNILX—ALTH

Table 3.1. Discretized sepal length attribute

Bins Domain Counts
[4.3,5.2] Very Short (ay) ny =45
(5.2,6.1] Short (a>) ny =50
(6.1,7.0] Long (as) ny =43
(7.0,7.9] Very Long (ay) ng =12

{a1 =VeryShort, a; = Short,az = Long, ay = VeryLong]}

[e; = (1,0,0,0) ifv=aq
er=(0,1,0,0) ifv=ap
e;=(0,0,1,0) ifv=as

ey =(0,0,0,1) ifv=ay

X(U] —l




YTV

o EHIRMEDI/LY. — DD ZE F(univariate)
o HHMNILX—ALTH

Very Short Short

ny/n p1
) 1 n m n; ”2;{” ﬁ-"j .
C T i S P
”n"”}'{” E}H‘r
f(x)
\ By =45/150=0.3
. 0.333 5y = 50/150 = 0.333
“3 N jt‘ = r
03+ 0.287 B3 =43/150 = 0.287
$s=12/150 = 0.08
02 1
0.1 + 0.08
0 ] > X
€] €2 €3 ey

Loﬁg Very Long

Figure 3.1. Probability mass function: sepal length.



BT
o EHIRMEDI/LY. — DD ZE F(univariate)
o BEHMANILX—AEH

P 1"1
.3 0 0 (
0. 31 0 0 0.
0287 0 0.

s =
3

3
87
0 0.08 0.08

0 0 0.09 0.1 0.086 0.024
0 0 0.1 0.111 0.096 0.027

P
N 0287 0 0.086 0.096 0.082 0.023

tx.} s =
L

(0.3 0.333 0.287 0.08)

L.a_.'u

-..r.i!
fbd
[

0 0.08 0.024 0.027 0.023 0.006

0.21 —0.1 —0.086 —0.024
—0.1  0.222 —-0.096 —-0.027
—0.086 —0.096  0.204 —-0.023
—0.024 —-0.027 —-0.023  0.074



v AN
o HERIEMEDHKLN, ZDDZE i (bivariate)

(X, X,

X11  X12

G o
dom(Xy) = {ay, a2, .... A1y ) ) :

Xnl X w)

dom(X3) = {az,an. ..., am,) \¥nl  Xn2

m

P(Xi=ey;) = fi(ey) =p; = n(pfl]"flx

ma

P(Xy=ey;) = fa(er;) = p; = ngf}"fk
k=1

J'?'!|_ m-

o2 my m?
P(X:{EIE:EEJ')T):f{EIhEZj]:pU:an}ff " Z ZJ 1 Pij =

r=1 s=1




® O
|

I~

*

Y 4

‘4

711

EI>

)Q‘

175

()
4 N : " H}E]f : 1 1 ~ A
it I Y L) Iy
e n Zﬂ? n2es; n ”% P1 P2 2
-~ X1 E]a \H’””) k‘”’””
E: -~

( Ezz)

)

P, = diag(p;) and ﬁg = diag(p>)

)
=

1 af X1 = €yq; and X2 =€y
lij(xp) =

(0  otherwise

=P —pip;

~ o o~ | nij .

Eggng—pgpg P]:U:J)foemez;)ZEZL}(M]Z?j:.”ij
A AT

po=Pup—pip;



v AN
o HERIEMEDHKLN, ZDDZE i (bivariate)

dom(X,) = {a1; = VeryShort, a;» = Short, a3 = Long, aj4 = VeryLong]

dom(X3) = {az1 = Short, a;; = Medium, a;3 = Long]

Table 3.3. Discretized sepal width attribute

Bins Domain Counts

[2.0.2.8] Short (a;) 47

(2.8,3.6] Medium (a;) 88

(3.6,4.4] Long (as) 15
”ﬂ,;;: . ey 0.313

I :A — T h"l':‘"."l': S — _:.'

Hi=P1= 1087 Ho=P2 =155 |88 ] = | U287
o 15 0.1
0.08



v AN
o HERIEMEDHKLN, ZDDZE i (bivariate)

Table 3.4. Observed Counts (n;): sepal length and sepal width

Short ng]) Medium (E;g] Long (Ejj)
Very Short (eq;) 7 33 5
¥ Short (eax) 24 18 8
‘ Long (e13) 13 30 0
Very Long (eyy) 3 7 2

E[X:i]E[Xz]" = i = pip?

0.094 0.176 0.03

0.104 0.196 0.033
0.09 0.168 0.029

0.025 0.047 0.008

)
0.333 (0.313 0.587 0.1
(}28? e M - )



vl
o EHIERMEDHKLN. Z DD ZE i (bivariate)

0.21 —0.1 —0.086 —0.024 | ( 0.215 —0.184 (].{}31)
T =

@, (| o o022 -00% -007 —0.184 0242 —0.059
H=1 008 —0.09% 0204 —0.023 —0.031 —0.059 0.09
—0.024 —0.027 —0.023  0.074

7 33 5 0.047 022 0.033
1 [24 18 8 0.16 0.12 0.053
m_ _ _
E[X1X; ] =Py 50113 30 o] " l0.087 0.2 0
3 7 2 0.02 0.047 0.013

—0.047  0.044  0.003

0.056 —0.076 0.02
—0.003  0.032 —-0.029
—0.005 0 0.005

I
D



o HHI.

YTV

2O/, ZDDE F(bivariate)

h_(in :E:u)

\Z, Zn
/[ 021  —0.1 —0.086 —0.024 | —0.047 0.044  0.003)
—0.1 0222 —0.096 —0.027 0.056 —0.076  0.02
—0.086 —0.096 0204 —0.023 | —0.003  0.032 —0.029
—0.024 —0.027 —0.023  0.074 | —0.005 0  0.005
—0.047  0.056 —0.003 —0.005 0215 —0.184 —0.031
0.044 —0.076  0.032 0 | —0.184 0242 —0.059
\ 0.003 0.02 —0.029 0.005 | —0.031 —-0.059  0.09)




o EHIEMDKLY, ZDDEH(bivariate)

fF(x)

A

0.2%

0.16 0.1

Figure 3.2. Empirical joint probability mass function: sepal length and sepal width.




)5

o HHY

2O/, ZDDE F(bivariate)

o BIMEDIRILE 2 DDEEB DN FHET

Table 3.5. Contingency table: sepal length vs. sepal width

Sepal width (X5)

;3 Short Medium Long
%" @ @ a3 Row Counts
%ﬂ Very Short (ai1) 7 33 5 n} =45
— Short (aq2) 24 18 8 ny =50
% Long (a13) 13 30 0 nl=43
% Very Long (ays) 3 7 2 ny =12

Column Counts nt =47 ns = 88 ni=15 n =150

i hi2 N1im,
- na L) H?mz
Np=n-Pp=

”nrl] H:rrl?

n]‘?‘! M2




YTV
o HHIEMEDHKLY. _’Dd)aiéﬂ(blvarlate)

o IRERIRE . HA=Hfist. g BEHE,
_

miy m7 1 L
(”"_.I' E,-Jl - A7 n; ”_,I' Hj H_f
€ii=n-pP;ji=n- ] — - — . L =
=22 j=mby=nepl B =Stk =
i=1 j=1
.
I ey .
f(:-:|q):j{ — X2 e 2 N'k=0)= [ x* e "dx
29<I'(q /2) J
nin? 45.47 2115 )

n=—"=75 =150 — 4 x-=21.8.
g=m—1)-(my—1)=3-2=6



YTV
o HHIEMEDHKLY. _’Dd)aiéﬂ(blvarlate)

o IRERIRE . HA=Hfist. g BEHE,
<

Table 3.6. Expected counts

X>
Short (a1) | Medium (a») | Short (ax)
Very Short (ay) 14.1 26.4 4.5
x Short (aq2) 15.67 29.33 5.0
" | Long (a;3) 13.47 25.23 43
Very Long (ajs) 3.76 7.04 1.2




YTV
o HHIEMEDHKLY. _’Dd)aiéﬂ(blvarlate)

o IRERIRE . HA=Hfist. g BEHE,

0.15

0.12

0.09

0.06

0.03

0

Sepal_length and Sepal width are
independent

Hj Rejection Region

0 5 10 15

Figure 3.3. Chi-squared distribution (g = 6).



o HHIRMEDHKL, ZDLLEDEH

(multivariate)

> 71)>4 Multivariate

Fa

f F ,6,8 :RIMLE

HORR. 17513

%

s



PR
THE IRIS FAMILY I

Natural Histogf and €lassification
® /-\ j] :

j e

e C: 75X (classes)
o F: ¥ (Features)
o HI:

o WFHT—REUVSADHEE

PETER GOLDBLATT & JOHN C. MANNING



7 —32tYkHl(Iris dataset)

Setosa

i O 320DYFARIC50Y

7 VEITINE
D1:{PL=1.4,PW=0.2,SL=5.1,SW=3 L s
.5} » PW: Petal Width

D2:{PL=1.4,PW=0.2,SL=4.9,SW=3 tal Length
.0} mepaIWidth

D3:{PL=1.3,PW=0.2,SL=4.7,SW=3 » SL: Sepal Length
2}

D51:{PL=4.7,PW=1.4,SL=7.0,SW=
3.2}
D52:{PL=4.9,PW=1.5,SL=6.4,SW=
3.2}
D53:{PL=4.0,PW=1.5,SL=6.9,SW=
3.1}

D101:{PL=6.0,PW=2.5,SL=6.3,SW

=3.3}
D1N2- DI —E 1 D\A/—1 O T| —E Q C\\/




T—3tykD 53 #H(Iris dataset)

5
Classification accuracy 96% D ##1

Total Set O IIDWZ Petal
Width

W10 e PL: Petal

PW=>=10 P ==19
PG Length
Setosa Versicolor Virginica
50 items 28 items 34 items
100% 100% 100%
Grey Area
PL>=39 - A ‘ 5
PL>=50 : = L.
and PL <=4.9 PL==55 : ST,
and P < 17 B2 and <= 6 3 "‘ﬁ\%\\ﬁépal‘-
/ L >
Versicolor Conflicted Virginica {
25 items 5items 8 items

96% 0% 100%



SRR VS AZ S s/ BRI E

scikit-learn
algorithm cheat-sheet

classification

NOT
WORKING

get
more
data NO

regression

ES

NOT
WORKING few features NoT
should be WORKING

important

number of
categories
known

clustering

oT
WORKING

dimensionality
reduction




XEDHBSH

o HEMINAXNEREXENHBMBICEALINZTY , XEHZ
ZTOABIZEO>THETHIHETHY. FIZAIE, EFA—ILZTER/N

LERy i@ffgt\%ml:ﬁiﬁa“éo

7 Training

Label

—_—

g

Input
cu

Learning
Algorithm

ment

\ &

¢ Prediction

Feature
Extraction

Input |
Document

-H—F"'"ff_—



http://ja.wikipedia.org/wiki/%E6%96%87%E6%9B%B8%E5%88%86%E9%A1%9E
http://ja.wikipedia.org/wiki/%E9%9B%BB%E5%AD%90%E3%83%A1%E3%83%BC%E3%83%AB
http://ja.wikipedia.org/wiki/%E3%82%B9%E3%83%91%E3%83%A0_(%E3%83%A1%E3%83%BC%E3%83%AB)

o T—4 =iy
o FbhAT— - !
o IH:H T—%3 = Eif
o T—ATAZ=2Y TARK,
R
o T—At Yl F—1 \\
o A | V:PEE
e Python Scikit-learn/\«w/ r—< FAl,
o T—ATXAMDNFEER



EXAMPLE
<




T—A2: a—EDTAMESTT S
«

A BEEOEBATE RF3VF—F X(—k E4—

1 4 43 46 42
2 3 45 44 43
3 9 41 47 40
4 10 42 40 47
9] 16 44 38 49
6 21 47 33 99
) 27 48 32 99
8 28 45 31 28
9 26 43 34 96
10 19 42 37 92
11 11 44 41 44
12 1 46 45 41



[5] 45 53 #T DD

iy
o

o
o

R 55 R R ()
w ~

'8
-]

38 LIRS R AR RE

y =0.7263x 33}2{‘
RZ=0.
® AHH—F

. A _7Z0.0873x#42.879% B 2+
E'Sad A E5—
_ — R (AF R —F)

?——ﬁ.bglﬂﬁ — ¥ (A1—F)
R? =0.9358
: I —%\?%ﬁg {t/},_]




_L/ml%llﬁluﬁa

Y. =

HKERFEHE

—@%IEI]_\'IJ]]]. X’I/_I‘

8
10
9
14
16
23
28
29
26
20
9
6

42.99529
418115
42.4034

39.44392

38.26013

34.11686

31.15739

30.56549

32.34118

39.89255
42.4034

4417908

\\s

43.93098
4538353 M
4465725
48.28863
49.74118

54.8251
58.45647
59.18275
57.00392
52.64627
4465725
4247843
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